®7 ERORBETIFHE (EMAMENESEE#HBE)

FREE |EARARREH
[ [

1. ERR/OHE
WEEHH 8 FHE)

BHTIOVIE | HAES | REMHFBRAT IR [reesmmmessss HEOET) kaea (OEmossm Eﬂjﬁﬁ SAFO™
T 1 B A, | RS RS B2 50T 20— 57 899 |R7 . 10 ne
Ttk 2 BRLRES BEP SRR ozryd RO—TH % 57 899 |R7 . 10 ne
(7 A B TR 2 ]
OB £ HQBMELS % (B ko L)
= = E EEBATEES R 5 & N -
EEBATEE (M) * BERERS 3 o ERREO SRR ARER A () g (| FEEEIA | REVOIED% | (M | ABHKER | FHEH * B A
smEs | EmME |WESEE ek o v SR & m) vrom®) | | )
1 n A {+o+n=z A o R0t 7 p+7=2 " 7 = hx1/2=3 =5
1 16,837,328 828,696 0 17,666,024 17,666,023 15,000,000 3,000,000 0 3,000,000 4,000,000 3,000,000 12 3,000,000 M 1,500.0 12,000,000
2 16,837,328 828,696 0 17,666,024 17,666,023 15,000,000 3,000,000 0 3,000,000 4,000,000 3,000,000 12 3,000,000 M 1,500.0 12,000,000
it 33,674,656 | 1,657,392 0 35,332,048 35,332,046 0 6,000 M 3,000 24,000,000
(ETHA SR )
DEF A (R For TR %)
LRMEARDN| e BAFIE(%) | LE25%MD55 -
wsns | g@mE) | O R [EOAOE(e)| PONRER | HESER)
ADFELR 2 Y] Y Y X1/2=%
1
2 =
&t aiE
G (aEEczonmne )
= AEELTOABHE
WENRIBIER (FF) HER(FR) 2 |EE waERn TRATH ZooE FREBCAE [[20moio
h+y I+% 5% AR [AERe | ARE [aERa| ARE [AERa| ABE |aERs | EXNER
1|10 | 600 %) A %) A 9% 1000 3] 40.0 %)
6,000 3,000 it
A %) A %) A %) A %)
EEt | A 600 %) ) % A 0| [m|a00 o)
2 ELB (S 8 )
WYTOvos | BEES | ERESBELHREEY | TRESRETANEREES
LHEE HEE
. #BE-=)1I, =)I-5EH, $205,
Rl 1 BEGENN RS | %218, 2208 | RO
— S, |BEERTERER M | BEAT——R%|
KIEER) B R 5 HEH6)
— s | BB ERBENER EX | BEAI—5—R8| o
%) BHEES BT
(7 A B TR 2 ]
OB £ H QBEMEHS % CEE ko BEE) AR TROL N BAERE, FEMTOEEFRA
. EBENRER o -
ASHSREE EEERED |77 m) T e | pomma | PRENNR | JEAOBIE | pangpn ) | WINRER | ymgem | |FEEEE
HEEES " (TEiK) .
L sxrs12 (B) =%
DEEDE=F | 20 om=7 | 9 L+9=/ # 9 ¥ (BIER) 9=7 Ix1/2=h 5-=7
TEHEE) $x02=
1 15,000,000 9,000,000 3,000,000 0 3,000,000 4,000,000 3,000,000 12 3,000,000 =] 1,500.0 6,000,000
2 15,000,000 12,000,000 3,000,000 0 3,000,000 4,000,000 3,000,000 12 3,000,000 =] 1,500.0 9,000,000
3 15,000,000 12,000,000 3,000,000 0 3,000,000 4,000,000 3,000,000 12 3,000,000 =] 1,500.0 9,000,000
it 45,000,000 33,000,000 9,000,000 0 9,000,000 12,000,000 9,000,000 9,000 FM) 4,500 24,000,000
(STHA SR )
DEF A (R For TR %)
ot SEEEER 2 (9 5%0D5 -
swes [ REGD BB a6 SERREER BARA |eopomin| WunmER | HEEER
ORI = & & : 5 7 7x1/2%
=] 0.0
M
it 0 F 0
(FEER) (BEELZORIEHE |
- P BEELTORBAS
B RIEHR (FA) AHE#E (T 2 |wal wiER THRATH TOmOE BREGEAE [ e
+7 r+4 7é -~ figs | ARANS 103 | AENS | QB8 | AENS | QB8 | QERs | RAOESE
e | 600 % =] % =] %[ 1000 F9[40.0 %
9,000 4,500 Pt
A % A %) A %) A %)
& [ ml600 9 ] %) ] %] e M400 %)




